BHusqvarna | e =12

10300146

Technical
Specification 2003

Trimmers, Brushcutters, Backpacks,
Edgers



(HjHusqvarna
IEEE

Angel gear reduction | Shaft thread Blade hole diameter | Blade diameter Angle Max. shaft speed
Untersetzung des Gewinde der Durchmesser der Blattdurchmesser Winkel Héchstdrehzahl der
Winkelgetriebes Antriebwelle bohrung des Diameétre de lame | Angle Antriebwelle
Démultiplication du Filet d'axe Sageblatts Diametro de hoja Angulo Vitesse max. de

i

™) | I | Vi

Max power of speed |} Idling speed Engagement No load free speed
Hdochstleistung bei Leerlaufdrehzahl Eingriffsdrhzahl Héchstdrehzahl
Puissance max. a Régime de ralenti Régime Nombre de tours

if"

Spark plug Electrode gap Ignition system Air gap
Zundkerze Elektrodenabstand Zundanlage Luftspalt
Bougie Ecartement des Systeme d'allumage | Ecartement

Type of carburetter and setting Fuel tank volume
Vergasertyp und Einstellung Fillmenge des
Carburateur et réglage Kraftstofftanks Poids

Displacement Bore Stroke
Hubraum Bohrung Hub
Cylindrée Alésage Course

N TR o | [ R - e L e '
kW(H P) grepp **k 0 NG K m m m m Tankvo.lym brénsle KIingh.ér!ﬁjiFﬁeter
cc @ mm mm rpm rpm rpm rom  JChampion| inch type inch type set * liters kg inch mm deg rpm
] 245 34.0 270 | 092 I 2700 3 800 11700 | Champion | 0.5 | WALBRO 0.3 ZAMA R=2* 0.50 4.6 1:1.00 | 3/8-24(R) 37° 11 700
Lec 3 400 - 0.0 R 0.0 0 =% — -
F-rechl] 326L.326L/LD** xseriesl 245 34.0 27.0 0-3 4%3) 2 700 3800 1%)1570%2* CS?;T%'?” 0%52 WA(L:[B)RO o.Odiz E 125\'\E/'L‘\12 'ng* 0.50 4448 | 1146 | M10x1.25 2?,-,4 200-255 30° 8 000
7 — 24.5 34.0 270 | 092 2 700 3800 | 11700+ J Champon f 05§ WALBRO | 0.5 ZAMA R=2" 0.50 4.9 1:1.46 | mioxt25 | 224 | 200-255 30° 8 000
lec X-Series 3 /0 R 0,0 D 0,0 0 *
| 0.9 (1.2) « | Champion | 05 | WALBRO | 0.3 ZAMA H=2* . 25.4 7 860-
L_toch T 326 xseries| 245 34.0 27.0 22 | 2700 [ 3800 | 1700 | Champen| 05 L o leiomin| 1= 050 1140 | M101.25 | 2 200 | %0
0.9 (1.2 Champion | 0.5 | WALBRO | _ 0.3 ZAMA .
E-techl] 326S xseries] 245 | 340 | 210 ] 028 | 2700 [ 3800 | 11700 | < & el : 050 | 90 | w0 [ T | | ___
| 0.9 (1.2) Champion | 05 | WALBRO | 0.3 ZAMA H=2* . _ .
323C.325C xseries] 245 34.0 27.0 o 5t 2 700 3800 | 11700 | Champon f 05 = AT WL 050 J424240] 1100 |3824R)| | 37
325E yseries] 245 34.0 270 | 0212 | 2700 PR 7a o NI T 10O PN - 0.50 1:1.40 | M10x1.25
323L /L D/325L x.series/L. D**x.series | 245 34.0 27.0 0-3 (()%)g) 2 700 3800 1%1570%2* ngfjngig“ 00652 WA(%[B)RO oodiz : lzé*l'\z/'flz HL:'i 050 J404144] 1146 | M10x1.25 2?,-,4 200-255 30° 8 000
9 (1.2 11 700~ | Champi | WALBR | ZANA = 4814 .
325R**y coriesRI **x series/ R D**x.series | 245 34.0 270 | %242 | 2700 3800 [ /90 | Champon f 0% 5RO 1 0.9 : 0.50 o 1.1.46 | M10xL.25 200-255

323R/RJ 245 34.0 210 | 0942 | 2700 | 3800 | 11700+ | Champion | 05 ] WALBRO - 03~ f L 2 0.50 1146 | moxtas | B4 | 200255 [ s0° 8 000

232 LIS 1 2700 | 3800 [ 21500+ | Champon | US ] WALBRO | - 05 J WALBRO [ - H= 0.50 1140 | Miox125 | 224 — 35° 8 500

232R 30.8 35.0 20 |13 %g’) 2700 | 3800 | 11500%* ngyg‘gn g [ WABRO L O | WRLERO [ Y 0.50 1140 | M10x125 | 2% | 200275 | 35 8 500

132R 09(12) 1 3000 [ 3900 | 11000 | . d IKED ORI 17RO O 243 U ey 1133 | Mixt7s | 24 | 200255 | 35 9000

235R/RII 363400 | 380400 | 320 | L3LD 2700 [ 3800 [ 11500~ | Champion | 05 ] WALBRO | - 0.8 JWALSRO | H=LP | 50 1153 | mixe7s [ 24 | 200300 | 350 7 800

240R 40.2 40.0 20 | L84 | 2700 | 3700 [ 12500 fChamponf OS¢ JLECTROLUR 0.5 J WALBRO fH=LL A | 050 | g6 | 1136 [mi2a75| 200 | 200300 | 30° 9190

240R EPA*** 40.2 40,0 20 | 18@Y | 2700 | 3700 | 12500 |Champon| 05 ELECROUN 03~ f LA Y YO 080 “ 1136 | mi2xt75 [ 200 | 200300 | 30° 9190
142R/142RB/142RJ 415 40.0 330 | 1280 | 2600 | 3400 [ 11000 | eewer d A3 | WALBRO | HEHZED 1 109 1129 | mixt75 | 4+ | 200300 | 35° 9 300
245RX/245R 443 42.0 20 | 2001 2700 | 3700 | 12500 |Champion f 05 JLECROLGY - 03§ WALBRO f HEL-L LA | g gg 1136 | Mi2xt75 | 200 | 200300 | 30° 9190
245RX/245R EPA*** 44.3 42.0 20 | 2020 | 2700 | 3700 [ 12500 | Chempon f 05 JLECTROLUN 03 P2 L Ny 1136 | M12x175 | 200 | 200300 | 30° 9190
250R 48.7 44,0 20 | 2129 1 2700 [ 4300 [ 12500 |Champion | O KLECIROLUQ — G = JWALSRO T HZLLLA | g9 1136 | MI2xL75 | 200 | 200300 |  30° 9 190

152RB/152RJ 50.2 44.0 330 | 29 | 2600 | 3400 [ 21000% | NOK | 97 RED 1 0.3 § WALBRO | H=FWED | 09 1129 | miaa75 | 24 | 200300 | 35° 9300

252R X 50.8 45.0 20 | 2388 [ 2700 | 4300 | 14000 JChampOn | Do RECEOLA O3 - WALBRO 1 HELL UM 0.0 “ 1136 | m12x1.75 | 200 | 200-300 | 30° 10 300

252RX EPA*** 22152) 1 2700 | 4300 [ 13500+ | Champion | - 05 [ELECTROLUQ 0.5 § WALBRO | H=aR" 1050 | 89 | 1135 |miaxt7s | 200 | 200300 | 30° 9930
265R X 65.1 48.0 360 | gt | 2250 | 3500 | a1soo fChampon iy 0o ) SEM U D3 _T'bt%slg'\' Tl L 10.8 1126 | m1x1.75 | 200 | 200-300 | 25° 9120

260RX EPA** o e L0 ' A‘n. 2250 3 500 11 000~ amplon o. A ! N .. m ° Y : N : 10.8 1:1.26 M12x1.75 20.0 200-300 250 8 730

<> Do not exceed the max no load free speed or engine damage may occur. This figure is for broken in unit. Reduce rpm by 600-700 rpm for a new product. 106 2362-72

* Basic setting. Only applies to needles without caps fitted.

Technical Specification 2003
Trimmers, Brushcutters, Backpacks, Edgers

** Regulated ignition system.

FEE Only U.S. Ca.



